knh_V1024 Her_g 30s 2024-06-01T07-
UTC 2024-06-01 07:47:00.06

Mean = 1049.142

o = 483.358 "

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 807.463

max = mean + 2 o = 2015.857

750 1000 1250 1500 1750 2000




knh_V1024_Her i 30s_2024-06-01T07-4

UTC 2024-06-01 07:49:00.10
Mean = 1088.026 :

o = 483.102

Exposure Time =30.0 s"

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 846.475
maXx = mean + 2 o = 2054.23
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knh_V1024 Her Irg_300s_2024-06-01T(

UTC 2024-06-01 07:50:12.21
Mean = 1194.059

o =517.593

Exposure Time =300.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 o0 = 935.263
max = mean + 2 0 = 2229.245
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1750
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knh V1024 Her g 30s 2024-06-01T08-
UTC 2024-06-01 08:07:00.09

Mean = 1049.720

o = 487.490

Exposure Time =30.0 s*

1MHz High Sensitivity 16-bit

min = mean - 0.5 o = 805.975

max = mean + 2 0 = 2024.7

750 1000 1250 1500 1750 2000




knh_V1024 Her i 30s_2024-06-01T08-

UTC 2024-06-01 08:09:00.06
Mean = 1094.612 g

o = 485.296

Exposure Time =30.0 s"

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 851.964
maXx = mean + 2 o = 2065.203

750
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1500

1750

2000




knh_V1024 Her_g 30s 2024-06-01T08-

UTC 2024-06-01 08:12:00.06
Mean = 1049.826

o = 487.532

Exposure Time =30.0 s*

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 806.06
maXx = mean + 2 0 = 2024.891

750
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1500

1750

2000




knh_V1024_Her i 30s_2024-06-01T08-1

UTC 2024-06-01 08:14:00.07
Mean = 1088.247

o= 479.243

Exposure Time =30.0 s*

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 848.626
maXx = mean + 2 o0 = 2046.732

750
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1750

2000




knh_V1024 Her_Irg_300s_2024-06-01T(

UTC 2024-06-01 08:15:12.13
Mean = 1184.900

o=512.674

Exposure Time =300.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 o0 = 928.563
max = mean + 2 0 = 2210.248
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1750

2000




knh V1024 Her g 30s 2024-06-01T08-
UTC 2024-06-01 08:20726.95

Mean = 1049.446

o = 484.863 .

Exposure Time =30.0 s*

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 807.014

max = mean + 2 0 = 2019.172

1000 1250 1500 1750 2000




knh_V1024_Her_r_305_2024-06-01T08-2.¢-4O

UTC 2024-06-01 08:21:10.71
Mean = 1066.606

o =573.318

Exposure Time =30.0 s*

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 779.947
max = mean + 2 0 = 2213.241
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knh_V1024 Her_i_30s 2024-06-01T08-2

UTC 2024-06-01 08:21:54.18
Mean = 1083.473

o = 484.544

Exposure Time =30.0 s*

1MHz High Sensitivity 16-bit
min = mean - 0.5 o0 = 841.201
maXx = mean + 2 o = 2052.56
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knh_V1024 Her_Irg_300s_2024-06-01T(

UTC 2024-06-01 08:23:06.16
Mean = 1187.006

o=516.279

Exposure Time =300.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 o0 = 928.866
max = mean + 2 0 = 2219.565
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knh V1024 Her g 30s 2024-06-01T08-
UTC 2024-06-01 08:37:00.06

Mean = 1052.820

o= 481.398

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 812.121

max = mean + 2 0 = 2015.616

1000 1250 1500 1750 2000




knh_V1024 Her r_30s_2024-06-01T08-3§-00

UTC 2024-06-01 08:38:00.07
Mean = 1069.670

o =572.329

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 783.506
max = mean + 2 0 = 2214.329

750
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knh_V1024 Her i 30s_2024-06-01T08-3

UTC 2024-06-01 08:39:00.08
Mean = 1086.862

o = 484.181

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 844.772
max = mean + 2 0 = 2055.225
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knh V1024 Her g 30s 2024-06-01T08-
UTC 2024-06-01 08:42:00.07

Mean = 1054.574

o=475.476

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 816.836

max = mean + 2 0 = 2005.526

1000 1250 1500 1750 2000




knh_V1024 Her r_30s 2024-06-01T08-4

UTC 2024-06-01 08:43:00.11
Mean = 1069.823

o = 565.937

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 786.855
max = mean + 2 0 = 2201.697

750
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knh_V1024_Her i 30s_2024-06-01T08-4

UTC 2024-06-01 08:44:00.10
Mean = 1089.702

o = 479.947

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 o0 = 849.728
maXx = mean + 2 o = 2049.597

750
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2000




knh_V1024 Her Irg_300s_2024-06-01T(

UTC 2024-06-01 08:45:12.24
Mean = 1200.395

o = 520.758

Exposure Time =300.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 o0 = 940.016
max = mean + 2 0 = 2241.912
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knh V1024 Her g 30s 2024-06-01T08-
UTC 2024-06-01 08:52:26.51

Mean = 1055.998

o= 475.967

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 818.014

max = mean + 2 0 = 2007.931

1000 1250 1500 1750 2000




knh_V1024_Her_r_305_2024-06-01T08-5‘-4O

UTC 2024-06-01 08:53:11.12
Mean = 1073.620 .

o = 565.028

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 791.106
maXx = mean + 2 o0 = 2203.677

750

1000

1250

1500

1750

2000




knh_V1024 Her i 30s_2024-06-01T08-5

UTC 2024-06-01 08:53:54.80
Mean = 1087.252 .
o=475.723

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 849.391
max = mean + 2 0 = 2038.698
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2000




knh_V1024 Her Irg_300s_2024-06-01T(

UTC 2024-06-01 08:55:08.21
Mean = 1205.123

o =531.007

Exposure Time =300.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 939.619
max = mean + 2 0 = 2267.137
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knh_V1024 Her_g 30s 2024-06-01T09-

UTC 2024-06-01 09:07-00.08
Mean = 1065.183

o = 482.333

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 824.017
maXx = mean + 2 o = 2029.85

750
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1500

1750

2000




knh_V1024_Her_r_305_2024-06-01T09-0‘-00
UTC 2024-06-01 09:08:00.08
Mean = 1083.653

o =559.121

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 804.093
max = mean + 2 0 = 2201.895

750 1000 1250 1500 1750 2000




knh_V1024 Her i 30s_2024-06-01T09-0

UTC 2024-06-01 09:09:00.07
Mean = 1096.173

o = 488.349

Exposure Time =30.0 s’

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 851.999
maXx = mean + 2 o = 2072.872

750
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1750

2000




knh_V1024 Her_g 30s 2024-06-01T09-

UTC 2024-06-01 09:12:00.08
Mean = 1067.159

o=476.979

Exposure Time =30.0 s’

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 828.669
maXx = mean + 2 o = 2021.118

750
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1750

2000




knh_V1024_Her_r_305_2024-06-01T09-]$-00

UTC 2024-06-01 09:13:00.07
Mean = 1085.271

o = 573.546

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 o0 = 798.498
maX = mean + 2 0 = 2232.364

750
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1500

1750

2000




knh_V1024_Her i 30s_2024-06-01T09-1

UTC 2024-06-01 09:14:00.07
Mean = 1096.741

o = 481.298

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 856.092
maXx = mean + 2 o = 2059.336

750
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1500
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2000




'“—-—-___________-_—-__

knh_V1024 Her Irg_300s_2024-06-01T(
UTC 2024-06-01 09:15:12.23

Mean = 1234.775

o = 558.758

Exposure Time =300.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 955.396

max = mean + 2 0 = 2352.292

1000 1250 1500 1750 2000




knh_V1024_Her_g_30s_2024-06-01T09-0-05
UTC 2024-06-01 09:20:27.06
Mean = 1074.093

o = 465.481

Exposure Time =30.0 s*

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 841.353
max = mean + 2 0 = 2005.056

1000 1250 1500 1750 2000




knh_V1024_Her i 30s_2024-06-01T09-2

UTC 2024-06-01 09:21:54.18
Mean = 1095.810

o= 464.316

Exposure Time =30.0 s*

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 863.652
maXx = mean + 2 0 = 2024.441

750

1000

1250

1500

1750

2000




knh_V1024 Her Irg_300s_2024-06-01T(

UTC 2024-06-01 09:23:06.21
Mean = 1244.127

o = 580.401

Exposure Time =300.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 o0 = 953.927
maXx = mean + 2 o = 2404.929

1000
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1750
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knh V1024 Her g 30s 2024-06-01T09-
UTC 2024-06-01 09:37-00.11

Mean = 1084.913

o = 465.277 ,

Exposure Time =30.0 s*

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 852.275

max = mean + 2 0 = 2015.467

1000 1250 1500 1750 2000




knh_V1024 Her r_30s 2024-06-01T09-3

UTC 2024-06-01 09:38:00.11
Mean = 1099.239

o =566.513

Exposure Time =30.0 s*

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 815.982
max = mean + 2 0 = 2232.264

750

1000

1250

1500

1750

2000




knh_V1024 Her i 30s_2024-06-01T09-3

UTC 2024-06-01 09:39:00.11
Mean = 1118.163

o = 469.368

Exposure Time =30.0 s*

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 883.479
max = mean + 2 o = 2056.899

750

1000

1250

1500

1750

2000




knh_ V1024 Her g 30s 2024-06-01T09-
UTC 2024-06-01 09:42:00.07

Mean = 1086.498

o= 467.136 :

Exposure Time =30.0 s*

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 852.929

max = mean + 2 o = 2020.77

750 1000 1250 1500 1750 2000




knh_V1024 Her r_30s 2024-06-01T09-4

UTC 2024-06-01 09:43:00.10
Mean = 1101.641

o =561.956

Exposure Time =30.0 s*

1MHz High Sensitivity 16-bit
min = mean - 0.5 o0 = 820.663
maXx = mean + 2 0 = 2225.552

750

1000

1250

1500

1750

2000




knh_V1024_Her i 30s_2024-06-01T09-4

UTC 2024-06-01 09:44:00.12
Mean = 1121.192

o= 467.387

Exposure Time =30.0 s*

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 887.498
maXx = mean + 2 o = 2055.967

750

1000

1250

1500

1750

2000




knh_V1024 Her _Irg_300s_2024-06-01T(

UTC 2024-06-01 09:45:12.12
Mean = 1289.184

o = 655.068

Exposure Time =300.0 s
1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 961.649
max = mean + 2 0 = 2599.32
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knh_V1024_Her_g_305_2024—06-01TO9-,¥)-05
UTC 2024-06-01 09:50:27.25
Mean = 1091.116

o = 446.871 .

Exposure Time =30.0 s*

1MHz HighsSensitivity 16-bit
min = mean - 0.5 0 = 867.681
max = mean + 2 0 = 1984.858

1000 1250 1500 1750 2000




knh_V1024_Her_r_305_2024-06-01T09-58-4O

UTC 2024-06-01 09:51:10.86
Mean = 1105.911

o =565.834 :

Exposure Time =30.0 s*

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 822.994
maXx = mean + 2 o = 2237.579

750
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1750

2000




knh_V1024 Her_i_30s_2024-06-01T09-5

UTC 2024-06-01 09:51:54.29
Mean = 1133.916

o = 465.454 .

Exposure Time =30.0 s*

1MHz High Sensitivity 16-bit
min = mean - 0.5 o0 = 901.189
maXx = mean + 2 0 = 2064.824

750

1000

1250

1500

1750

2000




knh_V1024 Her_Irg_300s_2024-06-01T(

UTC 2024-06-01 09:54:49.15
Mean = 1306.332

0 =676.291

Exposure Time =300.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 968.187
max = mean + 2 0 = 2658.913
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knh_V1024_Her_g_30s_2024-06-01T10-{/-00
UTC 2024-06-01 10:0#:00.08
Mean = 1098.632

o =464.231 .

Exposure Time =30.0 s

1MHz High-Sensitivity 16-bit
min = mean - 0.5 0 = 866.517
max = mean + 2 0 = 2027.094

1000 1250 1500 1750 2000




knh_V1024_Her_r_305_2024-06-01T10-(,@-00
UTC 2024-06-01 10:08:00.10
Mean = 1111.588

o = 559.050 :

Exposure Time =30.0 s

1MHz High+Sensitivity 16-bit
min = mean - 0.5 0 = 832.063
max = mean + 2 0 = 2229.688

750 1000 1250 1500 1750 2000




knh_V1024_Her_i_305_2024-06-01T10-O,3—00
UTC 2024-06-01 10:09:00.09
Mean = 1134.404

o=462.511 .

Exposure Time =30.0 ¢

1MHz High+Sensitivity 16-bit
min = mean - 0.5 0 = 903.149
max = mean + 2 0 = 2059.427

750 1000 1250 1500 1750 2000




knh_V1024 Her_g_30s_2024-06-01T10-@-00
UTC 2024-06-01 10:12:00.07
Mean = 1101.946

o = 464.164

Exposure Time =30.0 &'

1MHz High-Sensitivity 16-bit
min = mean - 0.5 0 = 869.864
max = mean + 2 0 = 2030.274

1000 1250 1500 1750 2000




knh_V1024_Her_r_305_2024-06-01T10-1@-00
UTC 2024-06-01 10:13:00.11
Mean = 1113.656

o = 559.140

Exposure Time =30.0 '

1MHz High-Sensitivity 16-bit
min = mean - 0.5 0 = 834.086
max = mean + 2 0 = 2231.937

750 1000 1250 1500 1750 2000




knh_V1024_Her_i_305_2024-06-01T10-114-00
UTC 2024-06-01 10:14:00.13
Mean = 1133.260

o= 467.514 i

Exposure Time =30.0 &'

1MHz High+Sensitivity 16-bit
min = mean - 0.5 0 = 899.503
maXx = mean + 2 o = 2068.287

750 1000 1250 1500 1750 2000




knh_V1024 Her Irg_300s_2024-06-01T1

UTC 2024-06-01 10:15:12.22
Mean = 1325.996

o=721.738

Exposure Time =300.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 965.126
max = mean + 2 0 = 2769.472
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knh_V1024_Her_g_30s_2024-06-01T10-R0-05
UTC 2024-06-01 10:20:27.17
Mean = 1106.004

o = 454.602 .

Exposure Time =30.0 &

1MHz HighsSensitivity 16-bit
min = mean - 0.5 0 = 878.703
max = mean + 2 o = 2015.207

750 1000 1250 1500 1750 2000




knh_V1024_Her_r_305_2024-06-01T10-;0-4O
UTC 2024-06-01 10:2X:10.95
Mean = 1116.954

o =551.861

Exposure Time =30.0 s

1MHz High+«Sensitivity 16-bit
min = mean - 0.5 0 = 841.024
max = mean + 2 0 = 2220.677

750 1000 1250 1500 1750 2000




knh_V1024_Her_i_305_2024-06-01T10-2,$-15
UTC 2024-06-01 10:21:54.51
Mean = 1141.961
o=461.105

Exposure Time =30.0 s

1MHz High+«Sensitivity 16-bit
min = mean - 0.5 0 = 911.408
maXx = mean + 2 o = 2064.17

1000 1250 1500 1750 2000




knh_V1024 Her Irg_300s_2024-06-01T1

UTC 2024-06-01 10:23:06.15
Mean = 1332.348

o= 734.603

Exposure Time =300.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 o0 = 965.047
max = mean + 2 o0 = 2801.554

1000
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1500

1750
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knh_V1024_Her_g_30s_2024-06-01T10-§7/-00
UTC 2024-06-01 10:37:00.09
Mean = 1114.787

o = 459.436

Exposure Time =30.0 S

1MHz High=Sensitivity 16-bit
min = mean - 0.5 o = 885.069
max = mean + 2 0 = 2033.66

750 1000 1250 1500 1750 2000




knh_V1024 Her_r_30s_2024-06-01T10-38-00
UTC 2024-06-01 10:38:00.07
Mean = 1124.343

o = 552.572

Exposure Time =30.0 S

1MHz High=Sensitivity 16-bit
min = mean - 0.5 o = 848.057
max = mean + 2 0 = 2229.488

750 1000 1250 1500 1750 2000




knh_V1024_Her_i_30s_2024-06-01T10-39-00
UTC 2024-06-01 10:39:00.09
Mean = 1152.553

o= 466.218

Exposure Time =30.0 S

1MHz High=Sensitivity 16-bit
min = mean - 0.5 0 = 919.444
max = mean + 2 o = 2084.989

750 1000 1250 1500 1750 2000




knh_V1024 Her g 30s 2024-06-01T10-42-00
UTC 2024-06-01 10:42:00.12
Mean = 1117.701

o =462.304

Exposure Time =30.0 §

1MHz High=Sensitivity 16-bit
min = mean - 0.5 0 = 886.549
max = mean + 2 0 = 2042.309

1000 1250 1500 1750 2000




knh_V1024 Her r_30s_2024-06-01T10-4-00
UTC 2024-06-01 10:43:00.08
Mean = 1127.001

o = 553.221

Exposure Time =30.0 §

1MHz High=Sensitivity 16-bit
min = mean - 0.5 0 = 850.391
max = mean + 2 0 = 2233.444

750 1000 1250 1500 1750 2000




knh_V1024 Her_i_30s_2024-06-01T10-44-00
UTC 2024-06-01 10:44:00.09
Mean = 1158.205
o=471.992

Exposure Time =30.0 S

1MHz High=Sensitivity 16-bit
min = mean - 0.5 o0 = 922.209
maXx = mean + 2 o = 2102.19

1000 1250 1500 1750 2000




knh_V1024 Her Irg_300s_2024-06-01T1

UTC 2024-06-01 10:45:12.09
Mean = 1365.509

o= 797.535

Exposure Time =300.0 s
1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 966.742
max = mean + 2 0 = 2960.58

1000

1250

1500

1750

2000




knh_V1024 Her g 30s_2024-06-01T10-g0-05
UTC 2024-06-01 10:50:26.90
Mean = 1127.575

o = 455.975 d
Exposure Time =30.0 s

1MHz High*Sensitivity 16-bit
min = mean - 0.5 0 = 899.588
max = mean + 2 0 = 2039.526

1000 1250 1500 1750 2000




knh_V1024 _Her_r_30s_2024-06-01T10-39-40
UTC 2024-06-01 10:51:10.79
Mean = 1131.471

o =549.173 4
Exposure Time =30.0 s

1MHz High*Sensitivity 16-bit
min = mean - 0.5 0 = 856.885
max = mean + 2 0 = 2229.816

750 1000 1250 1500 1750 2000




knh_V1024 Her_i_30s_2024-06-01T10-5§-15
UTC 2024-06-01 10:51:54.29
Mean = 1155.701

0 =466.671 R
Exposure Time =30.0 s

1MHz High*Sensitivity 16-bit
min = mean - 0.5 0 = 922.365
max = mean + 2 0 = 2089.043

750 1000 1250 1500 1750 2000




